OMRON

E39-L264

fE3ASHF A IL+3 7 ILEf$2 8
| e B

DRV FREEBEV LV REELTETLILBIDNESTEVET,
CTRAIBLTI RORBEHFIEL,
+ COBREHBAEE LCBTRIMTEY HDITTEEND IR ELCTRALEL,
+ COBURHAZRIIVN O THBRTEALIANREL TTIE L,

ALL et L
*3669743-6A%

© OMRON Corporation 2024 All Rights Reserved.

ZEEDER

ORI HBIRREEHRY 5O CUELIETIDTUTFoCLEEL,
(N RCDHREDT MIVTIETERDFEDMT bV VBEATHDF T
TV BB ML DREVERRDIPRDREICHEVE T, e/
TWEIRE) - BEAEEICEBFEEDRRAELGVET,
M3:0.4~0.5N+m
M5:3.0~3.5Nm

fERLDEE

(1) TEROREHA CIMEBLEWNTREL,
[ESRYEHN B e BIFRR
BREDARDG S5
RSB RE O ERAMED SIS
ENRZEBAZEEFTERPERRE

(2)(BDRCICTERISIFZRELTTIZEL,

BEEERE
BfAE IKFEAE360°, EEHE360°
{ERRERE —30~+55C
REAERE —40~+70°C
#&E) (MA) 10~55Hz #E#RIE1.5mm  X,Y,Z&A5M[E 2h
&2 (MA) 500m/s? X,Y,Z&51E  3E
IZp=] 95> 7 ZDC2 Nix ¥, 754w I :SUS304
SHE*1 ®12
BRAEVY E3AS-HF D3+

*1. WA (FZE39-L262, FZE39-L263) I3 BIFEUIC IRV E T,

B3R

RE ME (e
NAFUYTERILE M5X15 SUS 1
NAFY kM5 SuS 1
BEERL M3X35 (/\REE. FEST) SUS 2

BRE

E39-1264 (AHH)

E39-1262/E39-1.263 (3155)
oF
//
N
“1

‘ E39-1262:60mm
E39-1263:110mm

WY HE

9507
AET Y F(M5)
ﬂ ANARMTERIV b
> N (M5x%15)

cYC

RISE : E39-L262/E39-L263
(M12Fy k. MI2EELED)

U FIR

OM3EERLTT STy Mt SRR TLIREL,

@A BIFE) I T TERIHFTLEELY,

VY ERINI T Sy b e 50 T HinDEIIEHEDLE TIEEL,
@M57SEITERIVMEMSREFY b CU SV TZBIELTLEEL,
GOM12y hEM12TFES (578) ZERL T RZREFBICETIFTIEEL,

FERE]

CHEGERIE

LUERIE —RTERRETOABRE LR BESNTOE T RVEL T RIBT AR TOEREER

LTHES N BERN UHBERENSOBRICERAENBHICIE B EHERICIL TRV e LEE

Ao TR LV RICIBIF B RR THO TH UH O BRI BRI GERMEDEE PO EEL B2 5 6B EXT.

(@ BOREVHABEEENBMR B: RFNHIERR IR, 2R THRR SoERE. ARG RERE.
EFARE R2RE, TOMES FEICERARUD2HE)

(b) BWERED DB B (B AR - KE - BREDHHE AT L. 4BMEFHERL S AT L REV AT LIEHME
F-MEERRSBEREL)

(O BLORHETIERETORE Bl BINCRE T 5R(B. (2SR RDRIR. BB EE R SRR FD-
BEERITHREEL)

(d) H2OTFIEEHDEVREPRFETORE

Hah s (AICRHEN TV A A N2 OV SEHOBERIEEHE (CHRESS UTRL) M TRSVELA.B
BE|cER T ARRICIRALAVTTEL, BEEESABRIC OV T S BB EEICTRHMTIEL,

* ERIGESAROEHO—BTT, SHONANBEHEZOY T—2Y— MERIRDAZOJ X 227 Wi
HOREE REREONAZ L GRATTEAEL,

ALOVRRER (o542 UTAF— A =232 EVRRHLNZ—

OHAICHTEIHHVEDESE
BEFERE

I5:0120-919-066

meazoss. W 055-982-5015 & zzfimczan,
SZAHEERE © 9:00~17:00(+-H-12/31~1/3%F&<)

~
A\) )
B FLAVFAILYIFvyb
www.fa.omron.co.jp/contact/tech/chat/
FMERBICFrob THAVEDEVELETET, (I-WebX> /S—XFRE)
W3 3 85R:9:00~17:00(12:00~13:008%<) WE%H:FA
WEREE EEAREEDORREMN TEVET,
RHERIE) T EEIHEBEN, =
OZDHDBHNAEDY
WE - RS - VT - BB REOSIEI%. FAERMELSA LAOCVRERICTS

MR L&V, A LD HIEMESRRTEE P A 4O VERFERAIE. WebN—F TIERL
TVET,




OMRON

Model E39-1 264

Flexible Mounting Bracket for E3AS-HF
| INSTRUCTION SHEET

Thank you for selecting OMRON product. This sheet primarily describes
precautions

Before operating the product, read the sheet thoroughly to acquire sufficient
knowledge of the product. For your convenience, keep the sheet at your

disposal.
*3669743-6A*

© OMRON Corporation 2024 All Rights Reserved.

Precautions for Safe Use

Please observe the following precautions for safe use of the products.
(1) Tighten the screws within the following tightening torque range. If
the tightening torque is too large, the parts may be damaged. If it is
too small, the parts may come off due to vibration or impact.
M3:0.4t0 0.5 N'm
M5:3.0to 3.5 N'm

Precautions for Correct Use

(1) Do not use the product under the following conditions.
«In the place exposed to the direct sunlight.
«In the place where corrosive gas exists.
«In the place where vibration or shock is directly transmitted to the
product.

«In an ambient atmosphere or environment that exceeds the ratings.

(2) Use the supplied screws for installation.

B Ratings and Specifications

HIinstallation

Hexagon socket
head cap screw
(M5 x 15)

Hexagon nut (M5)

|

Bracket

Fixing screw
(M3 x 35)

Sold separately:
E39-L262/E39-L.263
(M12 nut with M12 plain washer)

Installation procedure

(®Mount the sensor to the bracket with the M3 screws.

(@Attach the clamp to the post (sold separately).

(3Fit the sensor bracket into the groove on the clamp tip.

@Secure the clamp with bolt M5 with hexagonal hole and M5 hexagon nut.

(®Use M12 nuts and M12 plain washers (sold separately) to attach the post to
the equipment.

Final drawing

Mounting angle 360° horizontal, 360° vertical
Ambient temperature (Operating) -30to 55°C
Ambient temperature (Storage) -40 to 70°C
Vibration resistance 10to 55 Hz, 1.5-mm double amplitude for 2
hours each in X, Y and Z directions
Shock resistance 500 m/s? 3 times each in X, Y and Z directions
Material Clamp: ZDC2 Ni plating, Bracket: SUS 304
Post * 1 12 dia.
Applicable sensor E3AS-HF only
*1. Applicable posts (E39-L262 and E39-L263) are sold separately.
B Accessories
Contents Material Qty
Hexagon socket head cap screw M5 x 15 SUS 1
Hexagon nut M5 SUS 1
Fixing screw M3 x 35 (with spring and plain washers) SUS 2
B Contents

E39-L264 (this product)

Suitability for Use

OMRON Corporation shall not be responsible for conformity with any standards, codes or
regulations which apply to the combination of the Product in the Buyer’s application or use of
the Product. At Buyer's request, Omron will provide applicable third party certification
documents identifying ratings and limitations of use which apply to the Product. This
information by itself is not sufficient for a complete determination of the suitability of the
Product in combination with the end product, machine, system, or other application or use.
Buyer shall be solely responsible for determining appropriateness of the particular Product
with respect to Buyer's application, product or system. Buyer shall take application
responsibility in all cases.

NEVER USE THE PRODUCT FOR AN APPLICATION INVOLVING SERIOUS RISK TO
LIFE OR PROPERTY WITHOUT ENSURING THAT THE SYSTEM AS A WHOLE HAS
BEEN DESIGNED TO ADDRESS THE RISKS, AND THAT THE OMRON PRODUCT(S) IS
PROPERLY RATED AND INSTALLED FOR THE INTENDED USE WITHIN THE OVERALL
EQUIPMENT OR SYSTEM.

E39-L262/E39-L263 (sold separately)
'@) .@
J
“1

‘ E39-1262:60mm
E39-L263:110mm

OMRON Corporation (Manufacturer)
Shiokoji Horikawa, Shimogyo-ku, Kyoto, 600-8530 JAPAN

Contact: www.ia.omron.com

Regional Headquarters

Il OMRON EUROPE B.V. (Importer in EU)
Wegalaan 67-69, 2132 JD Hoofddorp
The Netherlands
Tel: (31)2356-81-300/Fax: (31)2356-81-388

Il OMRON ELECTRONICS LLC
2895 Greenspoint Parkway, Suite 200
Hoffman Estates, IL 60169 U.S.A.
Tel: (1) 847-843-7900/Fax: (1) 847-843-7787

Il OMRON ASIA PACIFIC PTE. LTD.
438B Alexandra Road, #08-01/02
Alexandra Technopark,

Singapore 119968
Tel: (65) 6835-3011/Fax: (65) 6835-3011

Il OMRON (CHINA) CO., LTD.
Room 2211, Bank of China Tower,
200 Yin Cheng Zhong Road,
PuDong New Area, Shanghai, 200120, China
Tel: (86) 21-6023-0333/Fax: (86) 21-5037-2388




